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IJpozo R1

<tfroot>

hostname R1
|

ipv6 cef
|

ipv6 unicast-routing
|

interface Loopbackl0
no ip address

i pv6 address FD10::/64 eui-64

I--- Assigned a IPv6 unicast address in EUI-64 format.

ipv6e ospf 1 area 1

I--- Enables OSPFv3 on the interface and associates the interface loobackl0 to area 1.

interface Loopback20
no ip address

i pv6 address FD20::/64 eui-64
i pv6 ospf 1 area 2

I--- Associates the Interface Toopback20 to area 2.

interface Serial0/0
no ip address

i pv6 address 2001::1/124
i pv6 ospf 1 area O

I--- Associates the Interface serial0/0 to area 0.

clock rate 2000000
|

ipv6 router ospf 1
router-id 10.1.1.1

!I--- Router R1 uses 10.1.1.1 as router 1id.
Tog-adjacency-changes

!
end
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IJp9z0 R2 IJp9z0 R3

<f#froot>

hostname R3
|

<#root> ipv6 cef
I
hostname R2
|

ipv6 unicast-routing
: |
ipv6 cef I

ipv6 unicast-routing interface Loopbackl0

! no ip address
|

[ i pv6 address FDO1::/64 eui-64
interface Serial0/0 i pve ospf 1 area 1

no ip address
!

i pv6 address 2001::2/124 !
i pv6 ospf 1 area O interface Loopback20

no ip address
clock rate 2000000

[ i pv6 address FD20::/64 eui-64
[ i pv6 ospf 1 area 2
interface Serial0/1

no ip address !

i pv6 address 2002::1/124 interface Serial0/0
i pv6 ospf 1 area O no ip address
clock rate 2000000 i pv6 address FE80::AB8 |ink-Iloca

[ i pv6 address 2002::2/124
! i pv6 ospf 1 area O

|
ipv6 router ospf 1 clock rate 2000000
router-id 10.2.2.2 !

log-adjacency-changes !
| !

end ipv6 router ospf 1
router-id 10.3.3.3
log-adjacency-changes
!

end

lJoez 99
lJozdl pu wdssy OSPF

JJozdd pu oId9su OSPF Luvdd Lopse: luvegspe sowipve routeospt [l o) b 1Jp9z0s0 R1 9
R3.

show ipV6 route ospf

lJe9zo R1
<{froot>




R1#
show i pv6 route ospf

IPv6 Routing Table - 10 entries
Codes: C - Connected, L - Local, S - Static, R - RIP, B - BGP
U - Per-user Static route, M - MIPv6
I1 - ISIS L1, I2 - ISIS L2, IA - ISIS interarea, IS - ISIS summary
0 - OSPF intra, OI - OSPF inter, OE1l - OSPF ext 1, OE2 - OSPF ext 2
ON1 - OSPF NSSA ext 1, ON2 - OSPF NSSA ext 2
D - EIGRP, EX - EIGRP external
OI FDO1::C002:1DFF:FEE0:0/128 [110/128]
via FE80::C001:1DFF:FEE0:0, Serial0/0
0 2002::/124 [110/128]
via FE80::C001:1DFF:FEE0:0, Serial0/0
OI FD20::C002:1DFF:FEE0:0/128 [110/128]
via FE80::C001:1DFF:FEE0:0, Serial0/0

lJe9zo R3
<ffroot>

R3#
show i pv6 route ospf

IPv6 Routing Table - 10 entries
Codes: C - Connected, L - Local, S - Static, R - RIP, B - BGP
U - Per-user Static route, M - MIPvb6
I1 - ISIS L1, I2 - ISIS L2, IA - ISIS 1interarea, IS - ISIS summary
0 - OSPF intra, OI - OSPF inter, OE1l - OSPF ext 1, OE2 - OSPF ext 2
ON1 - OSPF NSSA ext 1, ON2 - OSPF NSSA ext 2
D - EIGRP, EX - EIGRP external
0 2001::/124 [110/128]
via FE80::C001:1DFF:FEE0:0, Serial0/0
OI FD10::C000:1DFF:FEE0:0/128 [110/128]
via FE80::C001:1DFF:FEE0:0, Serial0/0
OI FD20::C000:1DFF:FEE0:0/128 [110/128]
via FE80::C001:1DFF:FEE0:0, Serial0/0
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O lJpszo R1
<ffroot>

R1#
pi ng FE8O0: : AB8
Output Interface:

serial0/0

Type escape sequence to abort.
Sending 5, 100-byte ICMP Echos to FE80::AB8, timeout is 2 seconds:
Packet sent with a source address of FE80::C000:1DFF:FEEQO:0

Success rate is 0 percent (0/5)

!I--- Pinging Link-Local Address of router R3.
!I--- The ping is unsuccessful and the ICMP packet cannot reach the destination through serial0/0.
!I--- This timeout indicates that R1 has not received any replies from the router R3.

l2oob ldewslo Ideeds Juoolb ool IUlouold po yvods pouods poliné

wlJouwos Jdpszo R2: sop w9uosd IJpszole RT 9 R3 polyiné 9sedu lRool louald IJewslu
lJeeds JJboolb JJJ pu ldesze R19 R2 s> wyuosdol JJslzos sl Iduodé IJpwoJd
wldpggo. swp oo IJIE)le oul:

ltool) IJloold R1 Link-Local Address oo |Jp9go R2

I 1Jp9ze R2
<#root>

R2#

pi ng

FE80: : C000: 1DFF: FEEO: O

Output Interface:

serial0/0

Type escape sequence to abort.
Sending 5, 100-byte ICMP Echos to FE80::C000:1DFF:FEE0:0, timeout is 2 seconds:
Packet sent with a source address of FE80::C001:1DFF:FEE0:0

Success rate is 100 percent (5/5), round-trip min/avg/max = 0/19/56 ms

!I--- Pinging Link-Local Address of router R1, R2 connects to R1 via serial0/0.

Il wuoese IJigble oo R1

R1#

*Mar 1 03:59:53.367: ICMPv6: Received echo request from FE80::C001:1DFF:FEEO0:0
*Mar 1 03:59:53.371: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEEO:0

*Mar 1 03:59:53.423: ICMPv6: Received echo request from FE80::C001:1DFF:FEEO:0
*Mar 1 03:59:53.427: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEEO:0




*Mar 1 03:59:53.463: ICMPv6: Received echo request from FE80::C001:1DFF:FEEOQ:0

*Mar 1 03:59:53.463: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEEQ:0

*Mar 1 03:59:53.467: ICMPv6: Received echo request from FE80::C001:1DFF:FEEO0:0

*Mar 1 03:59:53.467: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEEQ:0

*Mar 1 03:59:53.471: ICMPv6: Received echo request from FE80::C001:1DFF:FEEOQ:0

*Mar 1 03:59:53.471: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEEQ:0

!--- The debug output shows that the router R2 can ping router R1's Link-Local address.
l2ool) IJleuold R3 Link-Local Address oo 1Jpe9zo R2

WO IJpsze R2

<#root>

R2#

pi ng

FE8O: : AB8

Output Interface:

serial0/1

Type escape sequence to abort.
Sending 5, 100-byte ICMP Echos to FE80::AB8, timeout is 2 seconds:
Packet sent with a source address of FE80::C001:1DFF:FEEO:0

Success rate is 100 percent (5/5), round-trip min/avg/max = 0/18/60 ms

!--- Note that, to ping the Link-Local address, output interface is needed. In our case, R2 connects to

lLle worse Iigble oo R3

R3#

*Mar 1 04:12:11.518: ICMPv6: Received echo request from FE80::C001:1DFF:FEEOQ:0
*Mar 1 04:12:11.522: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEE0:0

*Mar 1 04:12:11.594: ICMPv6: Received echo request from FE80::C001:1DFF:FEEOQ:0
*Mar 1 04:12:11.598: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEE0:0

*Mar 1 04:12:11.618: ICMPv6: Received echo request from FE80::C001:1DFF:FEEOQ:0
*Mar 1 04:12:11.618: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEE0:0

*Mar 1 04:12:11.622: ICMPv6: Received echo request from FE80::C001:1DFF:FEEOQ:0
*Mar 1 04:12:11.622: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEE0:0

*Mar 1 04:12:11.626: ICMPv6: Received echo request from FE80::C001:1DFF:FEEOQ:0
*Mar 1 04:12:11.630: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEE0:0

!--- The debug output shows that the router R2 can ping router R3's Link-Local address.
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2923 S8 1oy 1Upedspes 29d ¢bos-peds euslu gds IUSLw.

show ipV6 interface brief

WO IJpszo R1
<ffroot>

R1#

show i pv6 interface brief

Serial0/0 [up/up]
FE80: : AB8

2001::1
Loopback10 Cup/up]

FE80: :C000:1DFF:FEEO:0

FD10: :C000:1DFF:FEEO:0
Loopback20 [up/up]

FE80: :C000:1DFF:FEEO:0

FD20::C000:1DFF:FEEO:0

Vs IJpszo R3
<ffroot>

R3#

show i pv6 interface brief

Serial0/0 Lup/up]
FE80: : AB8

2002::2
Loopback10 Lup/up]

FE80::C002:1DFF:FEEO:0
FDO1::C002:1DFF:FEEO:0
Loopback20 Lup/up]
FE80::C002:1DFF:FEEO:0
FD20::C002:1DFF:FEEO:0

I--- Shows that R1 and R3's serial interface has same Link-Local address FE80::ABS.

IS o3l ldpeldi swp wiuosue R19R3 pe wduw guslu IdLovlb 1dpeds 95pIdu I sSuwed R2
IJs JJl ldpsgosy gus weass 9lgos 1JIR)le 3o 1Uuadé.

ewslu IdLhoolb Ideeds 1Uglue o Ping R1 9 R3 oy R2
el Igool) IUlouold R1 Link-Local oo R2
<ffroot>

R2#

pi ng FE8O: : AB8
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Output Interface:

serial0/0

Type escape sequence to abort.
Sending 5, 100-byte ICMP Echos to FE80::AB8, timeout is 2 seconds:
Packet sent with a source address of FE80::C001:1DFF:FEEQ:0

Success rate is 100 percent (5/5), round-trip min/avg/max = 0/26/92 ms

!I--- R2 is connected to R1 through serial0/0.

I&lz ouoese IJigble oo R1

R1#

*Mar 1 19:51:31.855: ICMPv6: Received echo request from FE80::C001:1DFF:FEE0:0
*Mar 1 19:51:31.859: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEEO0:0

*Mar 1 19:51:31.915: ICMPv6: Received echo request from FE80::C001:1DFF:FEE0:0
*Mar 1 19:51:31.919: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEEO0:0

*Mar 1 19:51:31.947: ICMPv6: Received echo request from FE80::C001:1DFF:FEE0Q:0
*Mar 1 19:51:31.947: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEEO0:0

*Mar 1 19:51:31.955: ICMPv6: Received echo request from FE80::C001:1DFF:FEE0:0
*Mar 1 19:51:31.955: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEEO0:0

*Mar 1 19:51:31.955: ICMPv6: Received echo request from FE80::C001:1DFF:FEE0:0
*Mar 1 19:51:31.955: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEEO0:0

ew9lu lool) IUlouold R3 1deeds pu R2
<#root>

R2#

pi ng FE8O:: AB8
Output Interface:
serial0/1

Type escape sequence to abort.
Sending 5, 100-byte ICMP Echos to FE80::AB8, timeout is 2 seconds:
Packet sent with a source address of FE80::C001:1DFF:FEE0:0

Success rate is 100 percent (5/5), round-trip min/avg/max = 4/28/76 ms

!I--- R2 is connected to R1 through serial0O/1.

lLle oorse Iigble oo R3

R3#

*Mar 1 19:53:38.815: ICMPv6: Received echo request from FE80::C001:1DFF:FEEOQ:0
*Mar 1 19:53:38.819: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEE0:0

*Mar 1 19:53:38.911: ICMPv6: Received echo request from FE80::C001:1DFF:FEEOQ:0
*Mar 1 19:53:38.915: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEE0:0

*Mar 1 19:53:38.923: ICMPv6: Received echo request from FE80::C001:1DFF:FEEOQ:0
*Mar 1 19:53:38.927: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEE0:0

*Mar 1 19:53:38.955: ICMPv6: Received echo request from FE80::C001:1DFF:FEEOQ:0
*Mar 1 19:53:38.955: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEE0:0

*Mar 1 19:53:38.963: ICMPv6: Received echo request from FE80::C001:1DFF:FEEOQ:0
*Mar 1 19:53:38.963: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEE0:0
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